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The figures in the morgin indicate
full marks Jor the questions.

Answer ang Jiue questinns.

1. (a) Write an algorithm to implement Euler's
Improved method. Using Euler's
Improved method, find y at x = O.l and

x=O.2, given that 9=O-4,ctx a

s(o)= t. 4+8=t2
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h) Solve x3 + +Ji - 3 = 0 correct to 3

places of decimal by Bisection Method.
8

2. (a) Using Milne's method, flnd g(Z) if g(x)

is the solutlon ot fl=)t**d,
given that a@)=2. y(o'S)=z'oso,

y (r) = s.sos, u (t . 5) = 4.e68 .

IO

@ Compute

table :

x
J \x)

J'(O.r) from the following

6

34
10 33

:OI2
:lOl

(c) What do you mean by relaflve error ?
Find the absolute error and the relative

error if the number X = O.OO4997 ts

rounded off to ttrree decimal places.
4
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3. (a) The pressure and the volume of a gas

are related bY the equation PVr = K;

y and K being constants' Fit the

equation to the following set of

observations :

nfrrsl" ') ,

v (ttres)
o.5 l.o 1.5 20 2'5 3'0

1.62 1 00 0.75 0'62 0'52 0'46

10

(b) Using three point Gaussian quadrature

I 'a'
formula evaluate J I+x'o

5

(c) Using Regula-Falsi method, find the

real root of xe'-2x+l = O correct to

three decimal Places' 5

4. @) (n Evaluate '*"'#' where his

the interval of difference '
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@ If ttre interval of difference is unity,
prove that :

a+ = Ua + /y, + A2g, + A3Ao .

. 3+3=6

h) For a gtven function J(x) =x3 ana

6x=O.2, taking five decimal places

obtaln tJle absolute errors in J, (r) *d
J"@) at x=s.

(c) Solve the folowing equafions by Gauss_
Seldel lteraflon method correct to four
decimal places :

7x, + 52x, + 13x3 = lO4.

8x, +1lx, -4x. = 95t

3x, + 8x, + 29x" = 71. I
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5. (a) Using Newton's Interpolation formula,
evaluate j[(3.8) from the following data :

x :01 2 3 4

J&) , t 1.5 22 3.1 4.3

6

Using Runge-Kutta method of fourth

du,
order, solve i=xa +U- with U(0)=lox

at x=O'I, O.2,O.3. rO

-Usfurg 
Newton-Raphson's method, find

a real root of e* =4srln.rii' correct to
three decimal places. 4

The area A of a circle of diameter 'd' is
given by the following :

d:80 85 90 95 100
A : 5026 5674 6362 7088 7854

Find the approximate area of the circle
of diameter 82.

a

(c)

(a)6.
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State and prove Newton's Forward

Interpolatlon Formula. 7

Solve the dlfferentlal equation

f-*=ot U(o)=l from x=o to
x= O.25 uslng Euler's method.

8

7. (o) Integrate calculus and by

Slmpson's formula taking eight
dlvlslons and compute lqg 2.

6

(b) Using Gauss eltninailon method, solve

the equations :

Sxr+2xr-2x, = -2
2xr+4xr+x3 =3
x1 -x2 +x3 = $

h)

(c)

?axJ; uv
t-'

7
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E

(c) By means of Newton's divided dlfference

formula ffnd the value of J(8) from tUe

following table :

10 11 13

900 r2lo 2028
xi457

J(") , 48 roo 294
7
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